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 : Section – I       . 

 
Section – I 

 
1. (A)    10 
  (i) -  (ii) -  
  (iii)   (iv)   

 (B)     ` 6     ` 10 ,         
` 4     .         10 
 20 21 22 23 24 
 0.1 0.2 0.2 0.4 0.1 

   EMV . 
 
2. (A)    10 
  (i)  
  (ii)   
  (iii)     

 (B) 1000  1500        67.5  68 .   

    2.5          ? 10 

 

3. (A) (i)     ?   . 10 
  (ii)     .  
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 (B)      10 
 B 

    B1 B2 B3 B4 

   A    
A1A2A3A4

   






2 –2 4 1
6 1 12 3

–3 2 0 6
2 –3 7 1

 

 
4. (A)       10 
  (i)   
  (ii)   
  (iii)   

 (B)   A =  



1 –1 0

0 1 –1
1 0 1

   10 

    , A3 – 3A2 + 2A = 2I 
 

Section – II 
5.       10 
 (1)            25    5 . 

      19       
  . 

 (2)    0.58 ,      . 
 (3)      . 
 (4)   . 
 (5)     ? 
 (6)     ? 
 (7)  A = [ 1    2    3 ]    B = [ 4    5    6 ] ,  AB . 

 (8)   A = 



1 2 0

–3 5 4
0 7 9

 ,  | A |   . 

 (9)   . 
 (10)     . 
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Instruction : Attempt any two of the following four questions in Section I. 

 
Section – I 

 
1. (A) Write short note on : 10 
  (i) Maxi-min principle (ii) Maxi-max principle 
  (iii) Hurwitz’s principle (iv) Laplace principle 

 (B) The cost price of an item is ` 6 and its selling price is ` 10. The unsold item can 
be returned at ` 4 at the end of a day. The probability distribution of daily 
demand is as follows : 10 
Demand 20 21 22 23 24 
Probability 0.1 0.2 0.2 0.4 0.1 

  Find Maximum EMV. 
 
2. (A) Define the following terms : 10 
  (i) Parameter 
  (ii) Null hypothesis 
  (iii) Standard error of Statistics 

 (B) The means of the large samples of sizes 1000 and 1500 are respectively 67.5  
and 68. Can the samples be regarded as drawn from the same population of   
S.D. 2.5 ? 10 

 

3. (A) (i) What is game theory ? Give assumptions of the game. 10 
  (ii) Explain dominance property in game theory.  



SK-101 4 

 (B) Solve the following game : 10 
Player B 

    B1 B2 B3 B4 

  Player A    
A1A2A3A4

   






2 –2 4 1
6 1 12 3

–3 2 0 6
2 –3 7 1

 

 
4. (A) Explain the following terms with illustrations : 10 
  (i) Unit Matrix 
  (ii) Diagonal Matrix 
  (iii) Skew-symmetric Matrix 

 (B) If  A =  



1 –1 0

0 1 –1
1 0 1

 10 

  Prove that, A3 – 3A2 + 2A = 2I 
 

Section – II 
5. Answer any five from the following : 10 
 (1) For any problem an act have maximum value 25 and minimum value 5. 

According to Hurwitz principle an act have value 19. Find value of optimistic and 
pessimistic coefficient. 

 (2) The value of the power of test is 0.58. Find the value of Type-II error. 
 (3) Explain Type-I error in testing of hypothesis. 
 (4) Explain the saddle point. 
 (5) When the game is said to be fair ? 
 (6) What is decision theory ? 
 (7) If A = [ 1    2    3 ] and B = [ 4    5    6 ] find AB. 

 (8) If  A = 



1 2 0

–3 5 4
0 7 9

, find | A |. 

 (9)  Explain inverse of matrix. 
 (10) Explain the addition and subtraction of matrices. 

    


